The Parent Function: The Parent Function:

y = Sinx y = Cosx
17
/ﬁ
Period= 21 Period= 21
Amplitude= 1 Amplitude= 1
Eq of Midline: y =0 Eq of Midline: y =0

Starting points for

Sine Graphs| y = aSin/Cosx Cosine Graphs
Positive a Positive a
Starts Starts
on the Midline at a Max
and goes UP
Negative a Negative a
Starts Starts
on the Midline at a Min
and goes
DOWN

How are the graphs of Cosx and Sinx the SAME?
The have the same Period, Amplitude, and Midline.

Both Parent Functions"start"
on the y-axis (x=0)

How are the graphs of Cosx and Sinx DIFFERENT?

Sine Function starts on the midline

Where they start.

Cosine Function starts at a Maximum or a Minimum(upside down)

y = aSin/Cos(b(xth)) + k

a — \ert strecth or shrink - Amplitude
Also x-axis reflection if negative

b —  Horiz stretch or shrink  Period = 21i/b and b = 21/Period

h —s Phase Shift - Horiz translation - the starting point

k — Vertical translation - Equation of the Midline

gives you y-coord of pts on midline



1. Fill in the missing coordinates and write the equation of this Cosine
Function.
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Write the equation of this transformed Cosine Function.

(£ ;” 11)

1. Fill in the missing coordinates and write the equation of this Cosine
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1. Write the equation of this transformed Cosine Function.

M
‘/t‘{b\e (2 ;r[ 11) m\é\uvxz: y‘/"/ #;7

/]
Phase Sh & ?FRT"

(av ‘t
2T T 3
PTT ;ZTT'_B_:
= §T 5

S0 5277 (os (3 (x-1))



Write the equation of this graph as a Sine and Cosine Function:
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Write the equation of this graph as a Cosine Function:
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Write the equation of this graph as a Sine Function:
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Graph one period of this function. Label the coordinates of

all x-intercepts, Maximums, and Minimums.

y = 3Cos(5(x + %)) -2



Graph one period of this function. Label the coordinates of

Graph one period of this function. Label the coordinates of
all x-intercepts, Maximums, and Minimums. 4 3 all x-intercepts, Maximums, and Minimums.
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Graph one period of this function. Label the coordinates of o
all x-intercepts, Maximums, and Minimums. You can now finish Hwk #11.
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